—M?‘? Exercises

1-13 m Solve the differential equation.
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ﬁ 14-16 ® Giraph the two basic solutions of the differential equation
and several other solutions. What features do the solutions have in
common?
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17-24 m S‘.a.;lwe II;E ini[.ia!-w;lue p;obler.n.
1. ¥ + S5y + =0, ¥ =3, yh=—4
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20, 3"y by =0, y0) =2 y(0) =4
A - —3y=0 l}=-3 ylD=1
Y- +y=0 -0 ¥2=1
¥+ =0 x=3=0 »in3=1
¥Hay=0, ywel—1. ¥(=f6)=0
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25-32 w Salve the boundary-value problem, if possible.

2y +dy +Ay=0, ¥ =0, W) =3

™y +35 —6p=0, 0 =0 y2)=1
Iy +y=0 Al=1 o= —0

B+ H=0 =1 ww2)-=0

8y -y —2y=0 y-U=1 w)=0
Ny +dy +3y=0 yl}=0 p3=2
Hoy' Hdy 13y =0, W0l =2 yaf=1

Ry +5=0 yl=1, pm-—=2

s il s = - - - - * - -

33, (a) Show that the boundary-value problem v + Ay = 0,
vl = 0, WiL) = 0 has only the trivial solution y = 0 for
the cases A = Oand A =< (.
(b} For the case A = (), find the values of A for which this prob-
lem has a nonirivial solution and give the corresponding
solution.

34, If a, b, and ¢ are all positive constants and y(x] is a solution
of the differential equation ay”™ + by' + cy = (0, show that
lim, e vx) = 1



